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3����0 �P*�������3���� � ����3*��/� �� �����3�� �� �����3���<� �� �����) �

L0����H�-<� 5���=5��� *�� �����-�� E�	% 7 ������	
����� ������	�����G. 50Q� ��"

��3*��/� �3 ���3�� �� ��P� � ������-<� � �P5������ *��� �������� ,�����. ,�� *��"
*���� 5�3 4��� �� �	�) ��5����3����. � �0�4� 3��0��-<� 5���=5��� *�� �����-��

E��	� 7 ����� ��
 G �03����0 ��2��=5�����3���� � ����3*��/� �� �	�) ���"

�� ���4��/�. 03 ��L0�3� �� �0�4� L0����H�-<� 4������ �� ��	� � *��*����) �

*���5�*�� 3�����-<� *��� ��� *��*���� � � �P5������ ����3*��/� �� �	%) � �0�4�

L0����H�-<� ,�� ������������ � �� ��30��-R�� 5�3*������3 L0� � �0�4� %0����H�-<�

	���=5��� *�� �����-�� E��	% 7 ����� ���G *���0H ���0������ 5�����������3����

3��/���� L0� �� �� �	%. �*���� �� *��4��3�� �� 5�����2O�5�� � �� ��5�������� ��

�� 0����H�� 03 ������� �S3��� �� �����-R�� *��� �4��� ���� ���0������) ���3 �����.

� ����3*��/� 5��Q0��� �� ��	% � ��	�. �3 ��L0�3�� �� 5���=5�-<� 5��Q0���

,���� � 5����. ,�� ��34�3 �������� � � 3��/�� L0� � �� �	% � �	� *��� ����-R��
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��



�4����5� �, �/���� *�������� �� 	�

�F���� �� � *������ ,0�=��3��� �, �/�

��L0���3���� ,�� �/� ��2��� �, ��5��� �, �5���5� E�)�5)G

	���� �������
�� ��� �
 ��� 	��
����
��

���� �������� ����� �� ��������

��5�34��F9::;

��������+  ����� $����� ������-�

��0���� ���1��� ������ �� �����

��*���3���+ ���5���5�� ��2�������2

�������"5���� 3��0������ E�	�G /�� �P*��������T �3*����� �/� *��,��3��5�

�, ���� �����3������ �T���3�) �������"5���� L0���������� E�	%G. U/��� *��,��3��5�

�� ���3� �, ���� � ���������� �� �P5������ ,�� ������� ��0�5��. U�� *��*���� 4���� ��
�	�) ��5����T. �0�4� �������"5���� 3��0������ E��	�G /�� ��2��=5����T �3*�����

�/� *��,��3��5� �, �	�) �/�� U��V *��*���� � �0�4� L0���������� �5/�3� 4���� ��

��	�) �/� 3��� 3��������� ,�� �05/ *��*���� �� �/� �P5������ *��,��3��5� �, �	%)

�0�4� L0���������� U�� ������*�� ��� ��30������� /��� �/�U� �/�� �0�4� �������"

	���� %0���������� E��	%G *��,��3� 5��������4�T 4����� �/�� �	%. �� �*��� �,

5�����2��5� *��4��3� ��� �/� ���� �, � ���2� �034�� �, ���������� �� ����� �� �4����

�05/ *��,��3��5�) 
� �������. �/� Q���� *��,��3��5� �, ��	% ��� ��	�. ,�� Q����

��0�5�F5/����� �5/�3��. U�� ���� ����0���� ��� �� �� 4����� �/�� �/�� �, �	% ���
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B)A 	���=5�-<� 	��Q0��� �� ����� � 	���� 5�3 �	% � �	� ) ) ) ) ) ) ) XC

B)A)A ���3�H�-<� 	��Q0��� �� ����� � 	���� ) ) ) ) ) ) ) ) ) ) ) ) ) C9

B)9 	���=5�-<� 	��Q0��� �� ����� � 	���� 5�3 �0�4� �	% � �0�4� �	� C;

B); ���0������ ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) CI

B);)A ��2����3�� �� ���3�H�-<� 	��Q0��� ����� � 	���� ) ) ) ) ) ) CI

B);)9 	���=5�-<� 	��Q0��� 5�3 �0�4� �	% � �0�4� �	� ) ) ) ) ) CW
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9)A � �0�4� 5���=5����) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) D

9)9 � ��2����3� �	�� �*��5��� � 03� �����-� 5�3 �� �������) ) ) ) ) ) ) A:

9); � �0�4� ��5���=5����) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) AB

9)I � 5���=5���� �� 03 5J��2� �0�4� �� 30���*��5����� ��) ) ) ) ) ) ) ) ) AX

9)B ��203�� ����0�0��� *��� � ��5���=5�-<� �� 5J��2�� �0�4� �� 30���"

*��5����� �� � �) � 3��� ������ � 3������� �3 E�G. � 3��� 3�����"

��5����. �3 E4G � � 3��� *�������. �3 E5G) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) AC

9)W ���� *������� �� ��5���=5�-<� *��� 5J��2�� �0�4� �� 30���*��5�����

�� � �) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 9:

9)D ���� *������� �� ��5���=5�-<� *��� 5J��2�� �0�4� �� 30���*��5�����

�� � �) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 9A

;)A 	���=5�-<� 5�3 �	�) ���2��3� �� 4��5�� �3 E�G) 	���=5���� 5��"

���05����� �3 E4G) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 9I

;)9 �P�3*�� �� 5���=5�-<� 5�3 �	�) 
��5���� �� 5���=5�-<� �3 E�G.

5���=5���� 5�����05����� �3 E4G. �����-� 5�����*������� �3 E5G � 3�"

*����� �3 E�G) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 9D

;); ��5���=5�-<� �� �	�) � ��2����3� �� $����4� ��5����� � ��LZO�5��

�� �K34���� �� 5���� �� L0� ���N 3��� *�JP�3�. ��20��� � 3����5�

�05�������. �� ��LZO�5�� �� 5���� 5����3*��� *�� �0K�� � � ������� �

����� �� 5�����*�������) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) 9X

;)I �3 L0����H���� 5���=5��� *�� �����-�� �� 9 ���	 � I ������� �3 E�G

� �� ����0�0��� ����K���5�� �� 5J��2� 5�����05����� E4G. �� �0� �����-�

E5G � �� 3�*����� E�G 0����H���� *��� ��2����3� �� $����4� E#�$�G) ) ;I

I)A � 5���=5���� �� �0�4� 3��0��-<� 5���=5��� *�� �����-��) ) ) ) ) ) ) ) ;D
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5���=5�-<� � 3������� �3 E�G � �����/�� �� 5���=5���� 5�����05�����
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I)B ����� ��,������� �� ���0��� 03� �����-� �� ��	%) �3 E�G. � ���0��"

��� ������ �� ���	 ����
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I)C �� 5J��2�� ��� 	� �3 E�G � ���� �	� �3 E4G *���0H�3 �� 3��3�� ���0�"

����� L0���� 0����H���� �� ��	% *��L0� � �����-� �� ���� �	� *���

��� �������� 5�3� 3������� �3 E5G) � �����-� �� ���� ��L0���� �3

E5G L0� 5����3 � ������ : EH���G � ��O���5� M �� 5J��2� ��� 	�) ) ) ) ) WX

I)A: 	�3*���-<� ����� �� 5J��2�� E�G ��� ��. E�G ��� 	� � EÆG ��� �� L0����
0����H���� �� ��	� *��� A ��� *�� �K34���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) D:

I)AA 	�3*���-<� ����� �� 5J��2�� E�G ��� ��. E�G ��� 	� � EÆG ��� �� L0����
0����H���� �� ��	� *��� 9 ���	 *�� �K34���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) DA

I)A9 	�3*���-<� ����� �� 5J��2�� E�G ��� ��. E�G ��� 	� � EÆG ��� �� L0����
0����H���� �� ��	� *��� ; ���	 *�� �K34���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) D9

I)A; 	�3*���-<� ����� �� 5J��2�� E�G ��� ��. E�G ��� 	� � EÆG ��� �� L0����
0����H���� �� ��	� *��� I ���	 *�� �K34���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) D;

I)AI 	�3*������ EÆG �	% � E�G ��	% 3��� ������ �3 ,0�-<� �� ��3��"
�<�) ����� 0��,��3� ��3 3�3J��� �� 3���� H��� � ����[�5�� 0���N���) DX

I)AB 	�3*������ EÆG �	% � E�G ��	% 3��� ������ �3 ,0�-<� �� ��3��"
�<�) ����� 2�0������ ��3 3�3J��� �� 3���� H��� � ����[�5�� 0���N���) DC

I)AW 	�3*������ EÆG �	% � E�G ��	% 3��� ������ �3 ,0�-<� �� ��"

3���<�) ����� ��*��5���� ��3 3�3J��� �� 3���� H��� � ����[�5��

0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) X:

�P



I)AD 	�3*������ E�G �	% ���3�H��� � E�G ��	% ���3�H��� 3��� ������
�3 ,0�-<� �� ��3���<�) ����� 0��,��3� ��3 3�3J��� �� 3���� H���

� ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) XA

I)AX 	�3*������ E�G �	% ���3�H��� � E�G ��	% ���3�H��� 3��� ������
�3 ,0�-<� �� ��3���<�) ����� 2�0������ ��3 3�3J��� �� 3���� H���

� ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) X9

I)AC 	�3*������ EÆG �	%. E�G ��	% 3��� ������. E�G ��	% 3���

*�������. E�G �	% ���3�H���. E�G ��	% ���3�H��� 3��� ������ �

E
G ��	% ���3�H��� 3��� *�������) ����� 0��,��3� ��3 3�3J���

�� 3���� H��� � ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) XI

I)9: 	�3*������ EÆG �	%. E�G ��	% 3��� ������. E�G �	% ���3�H�"

��. E�G ��	% ���3�H��� 3��� ������ � E
G ��	% ���3�H��� 3���
*�������) ����� 2�0������ ��3 3�3J��� �� 3���� H��� � ����[�5��

0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) XB

I)9A 	�3*������ EÆG �	%. E�G ��	% 3��� ������. E�G �	% ���3�H��� �
E
G ��	% ���3�H��� 3��� *�������) ����� ��*��5���� ��3 3�3J���

�� 3���� H��� � ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) XW

B)A ���2��3� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	�) ) ) ) ) ) ) ) ) ) CA

B)9 ��2����3�� �� ���3�H�-<� *��� �	% Y �	�) EÆG ���5�����������
� ������-<� �P��� ������0H��� *���� ����� �� 5����) E�G 	�����������
*��5���3���� �� ����� �� 5����) E
G 	����������� ����2���3���� ��

����� �� 5����) 	J��2� ���� 	� 5�3 A ��� *�� �3�����"�K34��� � ,����

2�0������ ��3 3�3J��� �� 3���� H��� � ����[�5�� 0���N���) ) ) ) ) ) ) CC

B); ��2����3�� �� ���3�H�-<� *��� �	% Y �	�) EÆG ���5�����������
� ������-<� �P��� ������0H��� *���� ����� �� 5����) E�G 	�����������
*��5���3���� �� ����� �� 5����) E
G 	����������� ����2���3���� ��

����� �� 5����) 	J��2� ���� 	� 5�3 9 ���	 *�� �3�����"�K34��� � ,����

2�0������ ��3 3�3J��� �� 3���� H��� � ����[�5�� 0���N���) ) ) ) ) ) ) A::

P



B)I ��2����3�� �� ���3�H�-<� *��� �	% Y �	�) EÆG ���5����������� �
������-<� �P��� ������0H��� *���� ����� �� 5����) 	����������� ����"

2���3���� �� ����� �� 5����+ E�G ���0������ �� 6��2 � E
G ���0������

�4����� ����� ���4��/�) 	J��2� ���� 	� 5�3 9 ���	 *�� �3�����"�K34���

� ,���� 2�0������ ��3 3�3J��� �� 3���� H��� � ����[�5�� 0���N���) ) ) A:A

B)B 	�3*������ �	% Y �	�. ��	% Y ��	�"��$� � ��	% Y

��	�"�	��) EÆG �	% Y �	� 5�3 4��5� �� ��3��/� A:::. E�G
��	% Y ��	�"��$� � E
G ��	% Y ��	�"�	��. �34�� 5�3

4��5� �� ��3��/� 9BW) ����� 0��,��3� ��3 3�3J��� �� 3���� H���

� ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) A:9

B)W EÆG �	�"#�$�. 5J��2� 5�����05����� ��� �� �� � ����) E
G ��	�"

��$�. I �����-R��. 5J��2� 5�����05����� ��� �� � � � ���) ) ) ) ) ) ) ) A:;

B)D 	�3*������ �	% Y �	�. ��	% Y ��	�"��$� � ��	% Y

��	�"�	��) EÆG �	% Y �	� 5�3 4��5� �� ��3��/� A:::. E�G
��	% Y ��	�"��$� � E
G ��	% Y ��	�"�	��. �34�� 5�3

4��5� �� ��3��/� A:I) ����� 2�0������ ��3 3�3J��� �� 3���� H���

� ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) A:I
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I)A ���0������ �� �	%"#�$� 0����H���� ,���� 2�0������ ��3 3�3J���

� �� *����� �� ��5�����0-<� �� ���T�"��P �� ��P� �
 �) �� �������

�� ��� ���<� �������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) BW

I)9 ���0������ �� �	%"#�$� 0����H���� ,���� 2�0������ ��3 3�3J��� �

*����� �� ��5�����0-<� ���3�H����) �� ������� �� ��� ���<� ��������

�3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) BD

I); ���0������ �� ��	%"�	�� 0����H���� 03� �����-<�. ,���� 2�0������

��3 3�3J��� � �� *����� �� ��5�����0-<� �� ���T�"��P �� ��P� �
�)

�� ������� �� ��� ���<� �������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) BX

I)I ���0������ �� ��	%"�	�� 0����H���� L0���� �����-R��. ,���� 2�0�"

����� ��3 3�3J��� � �� *����� �� ��5�����0-<� �� ���T�"��P �� ��P�

� 
 �) �� ������� �� ��� ���<� �������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) BX

I)B ���0������ �� ��	%"��$� 0����H���� 03� �����-<�. ,���� 2�0������

��3 3�3J��� � �� *����� �� ��5�����0-<� �� ���T�"��P �� ��P� �
�)

�� ������� �� ��� ���<� �������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) BC

I)W ���0������ �� ��	%"��$� 0����H���� L0���� �����-R��. ,���� 2�0�"

����� ��3 3�3J��� � �� *����� �� ��5�����0-<� �� ���T�"��P �� ��P�

� 
 �) �� ������� �� ��� ���<� �������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) BC

I)D ���0������ �� ��	%"��$� 0����H���� ,���� 2�0������ ��3 3�3J���.

�� *����� �� ��5�����0-<� �� ���T�"��P �� ��P� � 
 � � � 5J��2�

5�����05����� ��� ��) �� ������� �� ��� ���<� �������� �3 ��) ) ) ) ) W:

I)X 	J��2�� 0����H���� �� �	% � �� 5J��2�� L0� *���0H�3 �� 3��/����

���0������ *��� ��	%"��$� *��� ,���� 2�0������ ��3 3�3J��� 5�3

�� *����� �� ��5�����0-<� �� ���T�"��P �� ��P� � 
 �) 	J��2�� �3

�5���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) WI

P��



I)C ���0������ �� ��	%"��$� 0����H���� 03� �����-<�. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � �� *����� ��

��5�����0-<� �� ���T�"��P �� ��P� � 
 �) �� ������� �� ��� ���<�

�������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) WB

I)A: ���0������ �� ��	%"��$� 0����H���� L0���� �����-R��. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � �� *����� ��

��5�����0-<� �� ���T�"��P �� ��P� � 
 �) �� ������� �� ��� ���<�

�������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) WB

I)AA ���0������ �� ��	%"�	�� 0����H���� 03� �����-<�. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � �� *����� ��

��5�����0-<� �� ���T�"��P �� ��P� � 
 �) �� ������� �� ��� ���<�

�������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) WW

I)A9 ���0������ �� ��	%"�	�� 0����H���� L0���� �����-R��. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � �� *����� ��

��5�����0-<� �� ���T�"��P �� ��P� � 
 �) �� ������� �� ��� ���<�

�������� �3 ��) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) WW

I)A; ���0������ �� ��	%"��$� 0����H���� 03� �����-<�. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � *����� �� ��"

5�����0-<� ���3�H����) �� ������� �� ��� ���<� �������� �3 ��) ) ) ) WD

I)AI ���0������ �� ��	%"�	�� 0����H���� 03� �����-<�. 5J��2�� *���

��	% �� ��4��� I)X. ,���� 2�0������ ��3 3�3J��� � *����� �� ��"

5�����0-<� ���3�H����) �� ������� �� ��� ���<� �������� �3 ��) ) ) ) WC

I)AB 	�3*���-<� ����� �� ��2����3�� ������� *��� ��	% 5�3 � ��3 5��"

����� �� *�����) ��	% 5�3 5J��2� 5�����05����� ��� �� � *����� ��

��5�����0-<� �� ���T�"��P �/� ��P� �
�) ����� 0��,��3� �� 3����

H��� � ����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) DW

I)AW 	�3*������ � ��3*� �� *��5����3���� ��� ��2����3�� ������ ��=����

� *������� *��� ��	% 5�3 �K���� �� ��5�����0-<� ���3�H����) � �

� ��3*� �� *��5����3���� 0����H��� *�� 5��� 03 ��� 5���=5������

5�3*������� �� 5���=5���� ��	%) ����� 0��,��3� �� 3���� H��� �

����[�5�� 0���N���) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) XD

P���



B)A 	�3*������ � �S3��� �� ��30��-R�� �P�50����� *��� ��2����3� ��

���3�H�-<� *��5���3���� 5��Q0��� �� ��-<� �)9 E����G � *��� ��2�"

���3� �� ���3�H�-<� 5��Q0��� �� ��-<� �); E����G �� �4���-<� ���

*����� �� 2�N=5� �� =20�� B)9) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) CW

B)9 	�3*������ � �S3��� �� ��30��-R�� �P�50����� *��� ��2����3� ��

���3�H�-<� *��5���3���� 5��Q0��� �� ��-<� �)9 E����G � *��� ��2�"

���3� �� ���3�H�-<� 5��Q0��� �� ��-<� �); E����G �� �4���-<� ���

*����� �� 2�N=5� �� =20�� B);) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) CD
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����� L0� �#����� >A? �*�������0 ��0 �����3� �� 5���=5�-<� �� 5����. L0�

*��� ��� 5����������. ��3 �P�2���. 03 ��� *������ �� ������ �� ��,��3�-<�. 30���

��,��-� ,�� ���*������ *��� ������ �����H�� � L0� ���� �����3� ����*0��+ � *���K���

5�����0�� 4��� 5J��2�� *��� 03 5���� �0����� ����� L0� � ��P� �� �����3���<� �<�

�P5��� � 5�*�5����� �� 5����) ����� 5����P��. � �P*����<� \4�3 5J��2�] ��2��=5�

�4��� *��4�4������� �� ���� �<� *�L0��� L0���� �� L0���� *��� 03� ���� *��O�5��

�� �����3���<�) �3 5J��2� �� 5���� *��� ��� 5���������� 3��/�� L0� 03 �0��� �� �

*��4�4������� �� ���� �� �����3���<� � 3���� *��� � 3��3� *��O�5�� �� �����3���<�)

( �3*������� ��34�3 ��� ����-<� � ,������ 5�3� 5�3*��P����� �� ��5���=5�-<�

�� 5J��2� L0� ���N ����5������ 5�3 �0� ����0�0��)

	J��2�� �<� ����0�0�����. �3 2����. �<� *���0�3 ��2����3�� �� ��5���=5�"

-<� �����HN����) ���<�. 4���5�3����. 03� ��� �50*�-R�� �� ������ �� ��,��3�-<� �

5�����0�� 5J��2�� �� 5���� 5�*�H�� �� ���0H�� � *��O�5�� �� �����3���<� *��� 03�

���� *��4�4������� �� ���� ��� � ��3��� �3*���� *��� �����3� �� �/�����) 
���

�� ��� 03� ��-<� �� �3*���[�5�� ����� ����,�. 5��� ��H L0� �� ���0H � *��O�5��

�� �����3���<� �3 9:^ EA ��G ����3�"�� L0� ��H���� �� 3��/R�� �� �J����� �<�

*�0*���� �3 ������� 5�3� � ��� �����3���R�� ��*�5���� �� ���2� ����[�5�� >9?)

�3 ACC;. ������ �� ��� >;? ������0H���3 �� 5J��2�� �0�4� 50Q� *���5�*��

5���5���K���5� � �����H�� ��P�� �� �����3���<� 30��� *�JP�3�� �� 5�*�5����� ��J��5�

�� 5����. ���5�����. 5�3 ����. � L0� *��� ��� � =3 �� *��4��3� �� �� ��5������ ��

4��� 5J��2�� *��3������ *��� �����3� �� �/�����)

�3 �0��� *��4��3� �� ������ �� ��,��3�-<� � � �� ��*�������-<� �� 03�

A



����N��� �����J���. L0� *��� ���03�� L0��L0�� ����� ������ �� 5��Q0��� ��� �S3�"

��� �����. 0����H���� 03 �S3��� =���� �� ���	 *�� �3����� � *���0H���� � 3����

������-<� 3���� *���K��� ����� �� �3������ � �0�� ��*�������-R��) ���� *��4��3� �N

���2�3 � ������ ��P� � ������-<� L0� *��� ��� ����� 5�3� �0�� �� ������ �� 5���=5�"
-<� �� 5����) 
��� *��L0� 03 4�3 5���=5���� �� 5���� *��� ��� �����,��3��� �03

4�3 5J��2� ��P� � ������-<� >I?)
�� �����	_ >B? *��*1� 03 ��L0�3� �� 5���=5�-<� �� 5����. � 3��0��-<�

5���=5��� *�� �����-�� E�	� 7 ������	
����� 
���������G. 50Q� *���5�*�� 5���5��"

�K���5� � �03����� � �=5�O�5�� ��*�5���� �3 ����-<� ��� ��L0�3�� �� 3��0��-<�

30����K��� �<� 5���=5����. Q0������ 5���=5�-<� � 3��0��-<� �03 3��3� 4��5�) �

3��0��-<� 5���=5��� *�� �����-�� ,�� 0����H��� *�� ���	���
� >W? 5�3� L0����"

H����. 03 5J��2� ��P� � ������-<� L0� =5�0 5��/�5��� 5�3� �	% E������	
�����

������	�����G. �4����� ���0������ 5�3*��N����. *�� ��H�� �0*�������. ��� �� ��L0�"

3�� �� L0����H�-<� ��� ���<� ���*��K����) 
��� � 03 4�3 �P�3*�� �� 5�3� 03

5���=5���� �� 5���� *��� ��� 0����H��� *��� �������� 03 *��4��3� �� ��P� � ������"
-<�)

�3 ACCB. ��������� �� ��� >D? =H���3 03� ,0�<� ��� 5J��2�� �0�4� 5�3

�� 5J��2�� �� �� �����	_ >B?. *���0H���� 03 ��L0�3� �� 5���=5�-<� �� 5����

��3���� ��� 5J��2�� �0�4� � 5�3 � �=5�O�5�� ��*�5���� ��� 5J��2�� �� �� ����"

�	_ >B?+ � �0�4� 3��0��-<� 5���=5��� *�� �����-�� E��	� 7 ����� ������	
�����


���������G) $���� L0� �� 5J��2�� �� �� �����	_ >B? *0����3 ��� 0����H����

������3���� 5�3� 5J��2�� ��P� � ������-<�. *�� L0� �<� ������ 0����H�� �� 5J��2��
�� ��������� �� ��� >D? *��� *���0H�� 03 ���� 5J��2� ��P� � ������-<�`

	�3� �� 5���=5������ �� ��������� �� ��� >D? �<� 3��� �=5������ L0� �� ��

�� �����	_ >B?. *��� 3���� *��� ������� �� ����-<� �����"�0K�� �0=5�����3����

�����. ��*���"�� L0� �� L0����H������ ��������� ��L0���� 5J��2�� ��Q�3 3��/���� L0�

�� �� ���	���
� >W?. �0 ��Q�. *���0H�3 03� ������-<� 3���� 3����) � ���� �.

4���5�3����. � 3�����-<� ����� ���4��/�. �0 ��Q�. ����������� � �0�4� L0����H�-<�

5���=5��� *�� �����-�� E��	% 7 ����� ���G)

�3 ACCA. �
�	#�� �� ��� >X? *��*0����3 03 ��L0�3� �� 5���=5�-<� 5��"

Q0��� �� ,���� � 5���� 5�3 �	% � �	�) � ����� � 5���=5�� 03� ,���� ��3 3�3J���

0����H���� � �	% L0� *�� �0� ��H 2��� ������3���� �� �K34���� �� 5���� � ����3
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�����3������) �� ��5�*���. � ��5���=5���� �	� 2��� ������3���� �� �K34���� ��

��5�����0-<� �� ,����) ���� ��L0�3� �� 5���=5�-<� 5��Q0��� �� ,���� � 5���� ��3"

4�3 3�����0"�� 30��� �=5����� �3 ����-<� � �0���� ��� ���<� ���*��K���� >X?) 	�3�

� ��	� � � ��	% �<� ��L0�3�� 4������� �� �	� � �� �	%. ��5���0"�� ��3"

4�3 ������� � ����3*��/� 5��Q0��� �� ��	% � ��	� *�� 3��� �� ��30��-R�� �

5�3*��N"�� �� �� �	% � �	�)

��� ����
������ �� ��
�

� 5�*K�0�� A. L0� 5�����*���� � ���� ������0-<�. �*������� � 3�����-<� �����

���4��/�) �� 5�*K�0�� 9. �<� ������0H���� 5��5����� 4N��5�� ����5������� ��� 5J��2��

�0�4� � � �0� ����0�0�� �� ��5���=5�-<� ��������� L0� �3*��2� � ��2����3� �	��"

��
� E
������ � ��	�������G >C?) ���3 �����. �0���� ��2����3�� 0����H���� ��

��5���=5�-<� ��� 5J��2�� �0�4� 5�3� �	��"��2��
 � �	��"��P��2��
 >A:?

�<� ��34�3 ���5�����) �� 5��5����� � ��2����3�� �*���������� ����� 5�*K�0�� �<� ��

,0���3����� �3*���[�5�� *��� �� 5�3*������� � ��	� �� ��������� �� ��� >D?

L0� ��34�3 �3*��2� � *���5K*�� �0�4�)

� 5�*K�0�� ; �*�������. �05����3����. � 3��0��-<� � � L0����H�-<� 5���=5�"

��� *�� �����-��. 4�3 5�3� 03 4���� *������� ����� � ������ �� 5���=5�-<� �� 5����

� � ������ ��P� � ������-<�) �� 5��5����� ��������� M �	� ��34�3 �<� ��5���N����

*��� 5�3*������� � ����0�0�� �� ��	� � �0� �*���-<�) ���3 �����. ���� 5�*K�0��

3����� 5�3� � �	�. L0� � 03 ��L0�3� �� 5���=5�-<� �� 5����. ,�� \�����,��3���]

�� �	%. L0� � 03 ��L0�3� 5���=5�-<� �� ,����. �P*������� � �0������� ����� ��

������� �� 5���=5�-<� �� 5���� � ��P� � ������-<� >I?) �. 5�3� � ��	� � ��������

�� �	�. ���� *��5���3���� ������N 5�3� 4��� *��� ����������� � ��	%)

�� 5�*K�0�� I. � ,���� 03� ���5��-<� ��� *���5�*��� 5���5���K���5�� �� �0�4�

3��0��-<� 5���=5��� *�� �����-��. �����5����"�� � *��5���� ��������� �� ��5���=5�"

-<� 5�3 � ��2����3� �	��"��
 *��� ,����� �<� 4��N���� >A:. AA?) ����� 5�*K�0��.

� ������������ � ��	%. 03 ���� ��L0�3� �� L0����H�-<� *��� ,����� ��3 3�3J���
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� 3��� 5�3*��P� L0� � �� �	� �� �	%) ����� ����� 5�*K�0��. �� ���0������ �4�����

5�3 ���� ���� L0����H���� �<� ���������)

�� 5�*K�0�� B. � ��	% � � ��	� �<� 0����H���� �� 5���=5�-<� 5��Q0��� ��

,���� � 5���� � �� ���0������ 5�3*������ 5�3 �L0���� �4����� *��� �3*��2� 5��Q0���

�� �	% � �	� >X. A9?)

�����3����. � 5�*K�0�� W 5����3 �� 5��5�0�R�� 2����� � ���*���� ��� ���0������

�4����� ��� 5�*K�0��� I � B. � *��*R� ��20�� ���4��/�� ,0�0���)
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�3 ACIX. �#����� >A? *04��5�0 03 ��� ����2�� 3��� �3*�������� *��� �

������ �� ��,��3�-<�) ��� ����4���5�0 �� ��3���� ��J��5�� *��� � ��P� 3NP�3� ��

�����3���<� �� ��,��3�-<� �03 5���� �0����� �� �����3� �� 	�*�5����� �� 	����)

���� �����3� ����20�� � �P���O�5�� �� 5J��2�� 5�*�H�� �� ����2�� � ��P� 3NP�3� ��

�����3���<� *��� 4��5�� �� 5J��2� �0=5�����3���� ���2��) ���� �����3�. *���3. �<�

3����� 5�3� 5�����0�� ���� 5J��2�� � *�� 5��5� �� B: ���� �<� �� ��5�����0 5J��2��

5�*�H�� �� �����3���� *���� �� ��P� ����4���5��� *�� �#����� >A?) ���<�. �3

ACC;. ������ �� ��� >;? �*�������3 �� *��3����� 5J��2�� L0� �����H�3 ���� ,����+

�� 	J��2�� �0�4�)

��� ���������� � ���������� �� ��
��

�� �5���� 5�3 �
$����� �� ��� >A;?. ����� �� �0�2�3���� ��� 5J��2�� �0�"

4�. �� ��J��5�� �� 5���=5�-<� ��������3 �3 ���5�� � *��4��3� �� *��Q��� �� 4���

5���=5������ ������������� 5J��2�� �P���3�3���� ����0�0�����. �� L0��� *��3�"

��3 � 5�����0-<� �� ��5���=5������ *�N��5��. �*���� �� � ������ ������������ *��

�#����� >A? �02���� L0� 5J��2�� ��5��/���� \���������3����] �����3 03� ��P�

�� �����3���<� *�JP�3� �� 5�*�5����� �� 5���� �� �� ��3��/�� ��� 4��5�� ,����3

�0=5�����3���� ���2��. 5��,��3� � �����3� 9)A)

�� ,���. � 40�5� *�� ��5���=5������ *�N��5�� *��� 5J��2�� \L0���] �����J����

*��� ��3��/�� �� 4��5�� ���2�� �<� ��� 5���������� �����3���� >A;?) ���� ����O�5��

*��� ��� Q0���=5��� ������� �3 5���� L0� 03 5��Q0��� �� *������� 5J��2� 2�����
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���������3���� 5�3 03� ������40�-<� �*��*����� �P�2����. 0����H���� � ��L0�3� 3���

��3*���. 03� ��4��� 5�3 03 ��3��/� L0� 5���5���� �P*����5���3���� 5�3 � ��3�"

�/� �� 4��5�. �������� ����N��� �0� �3*��3����-<� *�N��5� >I?) �. �����H. *�� �����

3������ � ���-<� ���5��� ��� ��J��5�� �� 5���=5�-<� ���/� ���� �� *��,0��� 5���"

5��3� ������ �� ����3*��/� �<� �0�*��������� ��� 5J��2�� �0�4�. ��0�5���� *��

������ �� ��� >;?. L0� 0����H���3 5J��2�� 5�3*������� ��������3���� ��3*��� �

*��30�������)
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�������. ��� � �0�2�3���� ��� 5J��2�� �0�4�. �� 5J��2�� ����0�0����� L0�

*��3����3 5���=5�-<� � ��5���=5�-<� ��������3���� ��3*��� �<� *���0K�3 03� ��P�

������J��5� *�JP�3� �� 5�*�5����� �� 5����) �� 5J��2�� �0�4� *���0H�3 *�������

5J��2� ����0�0����� � 5�3 5���5���K���5�� �� 03 5J��2� 2����� ���������3����) 
���

*��3��� L0� �� ���/� 03� ��P� ������J��5� �� �����3���<� *�JP�3� �� 5�*�5�����

�� 5���� � 03 ��5���=5���� �����HN��� �� *�N��5� >;?)

��� � ����� ����������

� �0�4� 5���=5���� �� ,��3� ���5���� *�� ������ �� ��� >;? 5������� ��

5��5�����-<� �� ���� 5���=5������ 5�����05������ �3 *�������) �*���� �� ��3��"

5���0��. ��3���� � ��5���=5����. ���5���� �� ��-<� 9)I. 0����H� � *���5K*�� �0�4�) �

���2��3� �� 4��5�� ����� ��*� �� 5���=5���� � 3������� �� =20�� 9)A) �����"�� ��

03 5J��2� �����3N��5� *���0H��� 5�3 � �0PK��� �� ���� 5���=5������ 5�����05������

��50������ >AI?. 03 *��30����� E��������#�� >9. A:?G �. �*5�����3����. *���"�� 0����"

H�� 03 *��,0����� *��� �4��� ��P�� ��,������� �� ��P� 4N��5� �� ���) ����� ,��3�.
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�� 5J��2�� �0�4�. �*���� �� ����3 5������0K��� *�� 5���=5������ 5�����05��"

����. *���3 ��� ������ 5�3� 5J��2�� �� 4��5� QN L0� � 5���=5�-<� �� *��5���� �� �

�3 � ���	. 5����-<� �3*���� *��� ��3��/� �� *��30�����) ���3��3����. �<� ��

����� � 3���� L0� A:::) ���3 ��� *�J*���� 5J��2�� 5�����05������. � ��3��/� ��

4��5� � � *��Q��� �� *��30����� �<� ,������ �����3������� �� �=5�O�5�� ��� 5J��2��
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�� ��2����3�) ��� ���� ��2����3� L0� ������ �� ��� >;? �������3 �� ��5���=5�-<�
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�3 2����. �3���"�� � 4��� � ��5����"�� ���� 	�)

� *����� �� ����� �� ������� �. � 5���=5���� 5�����05����� *���0H � �����

�� K���5�� � � 
���� � � � �����
	 5�3 � 
 � ���	 *�� �K34���. ���� �� � � *��� � �

�� �� � � � � � 	 �. ����� � � ��� �� � � � �& 	 �� 5�3 & � ����) ���� ����� � 0����H���

*��� 3�*����� *��� 2���� � ����� � � 

�
� � � � 
����
	 �� �K34���� �� 5����. ����


� � � *��� � � �� �� � � � � � 	 �. ����� � � �'�� '�� � � � � '���� 03 5��Q0��� 5�3

& �S3���� �����) �� �5���� 5�3 ���� ����-<�. 
� � '�� *��� � � �� �� � � � � � 	 �)
� 5��Q0��� � � *����5������ �3 L0���� �045��Q0����

�� � �'���� � � � �� �� � � � �&�		 �� � E;)B�G

�� � �'���� � � � �� �� � � � �&�		 �� � E;)B4G

�� � �'���� � � � �� �� � � � �&�		 �� � E;)B5G

�� � �'���� � � � �� �� � � � �&�		 �� � E;)B�G

�� 3��� � 3�P�3�H�� � ����[�5�� 3K��3� ����� �� ���3����� �� �� � �� � �� �

����� �� ���3����� �� �� � �����. 5�3� 3������� 3��� �������) ��� �
� ���	 ��

03 �K34��� �� � ���� � �
���
� � � � � � ���� �

�
�� �� ����� �. � 2�0*� ,��3��� *���� ���	 �

�
��

�
� �

0����H��� *��� ����5����� �� �045��Q0���� � � 2�0*� ,��3��� *���� ���	 ��� �
���
� � � � ���

����5���� 03 ��� ���3����� �� �045��Q0���)

�� =20�� ;)9. � 3������� 03 �P�3*�� �� 5���=5�-<� 5�3 � 5J��2� ��� ��

�� I ������� 5�3 �=5�O�5�� ��*�5���� �� 9 ���	F�F#H. �0 ��Q�. 5��� �K34��� �� 5�"

��� ��*������� 9 ���	 �� 3����2�3 �) � =20�� ;)9� 3����� � ����� �� �������

� � �::. :A. AA. A:. ::. AA� ����� 5���=5��� 5�3� � � �::+:. :A+A. AA+:. A:+A.

::+A. AA+A�. *�� 3��� �� 5J��2� 5�����05����� �� =20�� ;)94. *���0H���� � �����

� � �'��	�� '��	�� '��	�� '��	�� '��	�� '�		�� ������� �� 3�*��3���� 3������� �� =20"

�� ;)9�) �3 �. � ��� �� *������� ���N M ������� �� ����� �� ���� *�����) ���� L0�.

*��� 5��� �K34��� �� 3����2�3 � � ��� 5���=5���. �J � *��3����� ��5��/�� ����� ��

������� �� 5��Q0��� �� �0 ����� �� ������� �� 5��Q0��� ��. 5��,��3� � �����-� �����
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3����. � ����[�5�� 3K��3� ��34�3 ,�� 3�P�3�H��� ����� ���3����� �� �� � �����

���3����� �� ��)

����
 � ��
���	
����

�� ������ 3��0����� ��*���������� *��� ����� � �� =20�� ;)9� �<� �����3�"

����� *�� 3��� �� 03 5���� �. �3 2����. ���03�"�� L0� ��Q�3 5����3*���� *��

�0K�� 4���5� 2�0������ ������� E�6 � 7 �����#� 3%��� 1��		��� 4��	�G � �


���� � � � �����
	 . 2������ 03 ����� � � 
���� � � � �����

	 . ����� � � � 
 �. L0� ����

��� ��5���=5��� *��� �� �4��� 03� ����3����� �� � 
������ � � � ������
	 �� 3����2�3

�����3����� �) �� 5��� �� �	�. 0����H�"�� 5�3� ��2����3� �� ��5���=5�-<� � #�"

$�. 5��,��3� =20�� ;);) ���� ��2����3� ��5����� � ��LZO�5�� �� �K34���� �� 5����

�� � 
�
��
� � � � �
����
	 � L0� ���N 3��� *�JP�3�. ��20��� � 3����5� �05�������. ��

��LZO�5�� �� 5���� 5����3*��� *�� �0K�� �. �0 ��Q�. � ��LZO�5�� �� L0� 3���3�H�

(���� ��� �

��������
�	�

��� 	 �
���� E;)DG

� #�$� �������. ���<�. � ����� �� 5�����*������� �� ����� �� �����3�����)

��� (��
������� � ������ ��)� � $�
������

$���� L0� 03 �S3��� ����. �3 2����. ��L0�� 03 �S3��� ��=���� �� ���	 *���

��� ��*���������. � 0����H�-<� �� 03 �S3��� =���� �� ���	 *��� ��*�������� 03� ��"

��N��� �����J���. 50Q�� �3������ ���03�3 ������� ��4���N���� �� 5��Q0��� ��� �S3����

��� ���������� ��������� 
������� ���� ��� ��� ��� ����� ��������������

����� ��� ��� � � 
�� ��� � ���� 	 ���� � � �� �� � � � � � � ��
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��20�� ;);+ ��5���=5�-<� �� �	�) � ��2����3� �� $����4� ��5����� � ��LZO�5��

�� �K34���� �� 5���� �� L0� ���N 3��� *�JP�3�. ��20��� � 3����5� �05�������. ��

��LZO�5�� �� 5���� 5����3*��� *�� �0K�� � � ������� � ����� �� 5�����*�������)

�����. *���0H ����������3���� 03 ���� ����� � ����� � �0� ��*�������-<�) 
�� �0���

����. ���� 03 �S3��� =���� �� ���	 *��� ��*�������� 03� ���� ����N��� �����J���.

L0�� � 3���� ���� 3���� L0� *��� ��� �4����` � ������ ��P� � ������-<� ��3 5�3�
�4Q����� ���*����� ���� ��*� �� *��20���) �0 ��Q�. ���� � ������40�-<� �� ,���� �

03� 3����� �� ������-<� E����G � ������ ��P� � ������-<� ,����5� �� ,����3�����

*��� 5��50��� � ������-<� 3K��3� ��*����� *��� 03� �����3����� ��P�. 3����� �3

���	 *�� �3�����. �0 � ��P� 3K��3� ��5���N��� *��� 2���� 03� ���� ������-<� 3����)

��Q� � *��4��3� �� �� ��*�������� 03� ����N��� �����J��� �. L0� ��20� 03�

�����3����� ������40�-<�. 5�3 � ���	) ����� ,��3�. � ��*�������-<� � �� � *���

���03�� 03 ����� �� �� �������) ���<�. � ��5���N��� ��5������ �� ������� J��3�� *���

5�3*�� � ��,�4��� �� ��5�����0-<� � � � ��2�<� �� ��5�����0-<� 5�����*������� �
5��� 03 ������ �������) ( ����� ,��3� L0� � L0����H���� �� ���T�"��P � 5�����0K��

>9:?) ���. *���"�� ��� � *��4��3� �� L0����H�-<� �� �0��� ,��3�) �� ����� �� ��

L0����H�� 03� S��5� ����N��� �����J��� *�� ��H. *���"�� L0����H�� 03 5��Q0��� ��

� ����N���� �����J���� ����*�������� � ������5�3���� ������40K��� E���G L0� ��20�3

03� ���� ������40�-<�) �2���. � *��4��3� � ��*�������� ����� ����� ����N���� ����"

�J���� ,�H���� 0�� �� �� ���	) 	�3� � ,���� � ���. � ���0��� *���03��"�� L0� 5���

�K34��� *���0H��� *��� ,���� ���� ��� ������� ����*�������3����) ����� ,��3�. �
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L0����H�-<� *�� �3����� ��34�3 ����� � ���0-<� J��3� *��� ���� *��4��3�) 
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�� � ������� ���� � ���������

2����	
� �-�- � *���5� �� ��	����5� �0 ������ �� ��	����5� � 03 3�*��3����

( � � � � � �� ���� � � � ��,�4��� �� ,����. � � � ��,�4��� �� ��*���0-<� � ��

� � 5��Q0��� ��� �S3���� ����� �<� ��2������) � ,0�-<� (�
� �� 3��� � 50��� �� ��

��*�������� � �K34��� 
 0����� � �K34��� �) �3� *���5� �� ��	����5� �������� �

�L0��� *��� � L0��

(���
�
� ����(�
� �� � �
� �� � � � �� 	�� E;)XG

� ��	����5� ����� ���	 	��������	 � � �
�� 
�� � � � � 
���� � � � ���� ��� � � � � ����� �

��=���� *��

(����� �
�

�

����
�	�

(�
�� ���� E;)CG

2����	
� �-�- �3 � ��!� ���� � ��	����5� ����� �� � 5�3*���� *�� 03� *���5�

�����������

) � �� � �� �� � � � � ��� E;)A:G

� *�� 03� *���5� �������������

% � �� �� � � � � ��� � �� � E;)AAG

� ������-<� ����5���� �� 5J��2� ����� �� � ���� *�� # � *
(��� %�)������. ����

� ����� ��*����� � 5��50���� �3 ����-<� M ������40�-<� �� ����N��� �����J��� �.

# �
�
�

+���(��� %�)������ E;)A9G

2����	
� �-�- � *���5� ��*�����5� ���� � ��	����5�. ���#�. *��� 03� ,���� �

5�3 3����� �� ������-<� (�
� �� � ��=���� *��

���#� � ���

��
�,���� � � �+���
� ��� L0�

�
�����

+�
�+���
�(�
� �� � #

��
� � E;)A;G

���� � 3���3�H�-<� �� �N ��4�� ����� �� ������40�-R�� 5����5������ +���
� *��� ��
L0��� +�
� �� �����,�H � ������-<� �� ������-<� ��*�����)
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�����,� �-� .��3� � 2�����	
� /�01- � *���5� ���� � ��	����5� ���� ��� *��


�� ��� � ��� ��	�������5� +�
� � *���5� �� ��	����5� �������� (�
� �� 6 �!��� � *���5�

��*�����5� ���� � ��	����5� �		������� ��������� ��#� � ���#� 6 � ���� �$����

�����2&#�� ���� ��� ���� ��	����5� #�

( *���K��� 3������ ,��3��3���� >I? L0� � ,0�-<� ��P� � ������-<� *���

03� ,���� 2�0������ � ��� ���. 0����� 5�3� ,0�-<� ������-<� � ���� L0���N��5�.
(�
�� ��� � �
� 	 ���

�. �

��#� �

��
�

�
�
����

�
 �

�

�
� � � # � ��

�� # � ���
E;)AIG

� �L0�-<� ;)AI *��� ��� ����5���� 5�3�#��� � ������) ���<�. *��� � � � � 3����

������-<� ��*����� *��� � 3����5� ���� L0���N��5� � #��� � �� ����) � L0����H����

�� ���T�"��P *��� � 3��3� ��P� � ,0�-<� �� ������-<� *���0H 03� ������-<� 3����

�*��P�3���3���� �20�� � �� ���� >9:?. �0 ��Q�. 5��5� �� IB^ 3����) $O"��. ���<�.

L0� 5����������� �N���� *��4��3�� �� ��P� � ������-<� �3 5��Q0��� *���0H"�� 03�
������-<� ���0������ 3����)
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 ��������� ����� ����	
���� �� ����� � ���� � �������

���

�������	
� �� ����� ���� &�4�� 5��������

��Q� �� � �� 
 -� ���� �� ����N���� �����J���� -� �<� ��� �� �5���� 5�3

03� ������40�-<� ���3�� � ��� 
!� � ��Q� 
" � ������-<� �� *��O�5�� *�� �K34��� ��
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��� ��LZO�5��� ������ ����� ��,��� �� 3��� L0� � *��4�4������� �� �� 5�3���� 03

���� �� ��5��<� ����� L0���L0�� �0�� ����� ��Q� *�L0���) �0 ��Q�. �� ��,���� �� �0K��

�� ����
�
�
! �� ����� �� 5��� ��LZO�5�� � �<� L0��� ���Q0����) 
��� 5�����*����
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�
��
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!� 5�3 �� ��,���� �� ����

�
�
! ) 
���"��
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�� ,���� � *��Q����� *��� 3���3�H�� � ������-<� �P��� ������0H��� *��� 5����) ��

��20���. *��3���"�� L0� � ����-<� ��� �K34���� �� 3��0����� � � 3�*��3���� ���

XC



�K34���� �� 5���=5���� �� ,���� ��� �K34���� �� 3��0����� ����Q�3 ��4 � 5�������

�� *��Q������ �� �����3�) ���� S���3� �4����2�3 ,�� 0����H��� �� 5���=5�-<� 5��Q0�"

�� 5�3 �	% � �	�. ����� ��34�3 0����H��� �� 5���=5�-<� 5��Q0��� 5�3 ��	%

� ��	�) � �4Q�����. ����� 5���. � \5����] �� �����-�� 0����H���� �� 5���=5�-<� ��

,���� � �� 5���� >X?)

� �����3� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	� � ����0�0���� �� ��� ,��"

3� L0� � L0������ �� ����[�5�� ����� ��LZO�5��� �� 5���� � 5�3*��N��� �� L0������

�� ���� �� L0����H�-<�) ���� ,��30��-<� 2������ L0� ������� *���N���� �� ���� ��

5���� �5������3 03� *�L0��� ������-<� �P��� �� L0����H�-<� >X?)

� ��L0�3� 4N��5� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	� � 3������� ��

=20�� B)A. ���� 5��,��3� ����-<� �� 5�*K�0�� ;+

A) � � 
!�!� � � � !����
	 � � ����� �� �3������ *���0H���� *��� ,���� � !� � � 5�3

� � �b

9) � � 
���� � � � �����
	 � � ����� �� �K34���� 5�����*������� M� �3������ ��

,���� L0����H���� 5�3 � ���	 *�� �3����� � �� � � � ��� �� � � � �&�� 	 ��
*��� � � �� �� � � � � � 	 �. ���� & � ����b

;) � � 
���� � � � �����
	 � � ����� 5�����*������� ��� K���5�� L0� ����5����3 ��

�K34���� �� 5���� *��� � �	� �0 �� �K34���� �� L0����H���� *��� � �	% �

�� � � � ��� �� � � � �& 	 �� *��� � � �� �� � � � � � 	 �b

I) 
 � 
/�/� � � � /����
	 � � ����� 5�����*������� ��� �K34���� �� L0����H���� �

/� � � � �0�� 0�� � � � � 0����. ����� L0� /� � 0�� *��� � � �� �� � � � � � 	 �) �
� � 5��Q0��� ��� �K���� �� ��5�����0-<� �� L0����H����b

B) � � 

�
� � � � 
����
	 � � ����� 5�����*������� ��� �K34���� �� 5���� �� �	�

� 
� � � � �'�� '�� � � � � '����. ����� L0� 
� � '�� *��� � � �� �� � � � � � 	 �) �
� � 5��Q0��� ��� �3*���0��� �����3������ ������� �� 5����b

W) � � 
���� � � � �����
	 � ����� 5�����*������� �� �0K�� ������0H��� *��� 5����b

D) � � 
���� � � � �����
	 � � ����� 5�����*������� ��� �K34���� �� 5���� ��5�4����

� �� � 
� 
 �� � '�� 
 �� *��� � � �� �� � � � � � 	 �b

X) �� � 
������ � � � ������
	 � � ����� 5�����*������� M ����3����� �� �b
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C) �� � 
������ � � � ������
	 � � ����� 5�����*������� M ����3����� �� �b

A:) �� � 
�
��
� � � � �
����
	 � � ����� 5�����*������� M ����3����� �� �. ����� L0�

�
� � '��� *��� � � �� �� � � � � � 	 �b

AA) �
 � 
 �/� �/� � � � �/����
	 � � ����� 5�����*������� M ����3����� �� 
. ����� L0�

�/� � 0��� *��� � � �� �� � � � � � 	 �b

� ,���� ���5���� �� ��3*� 2��� � ����� � L0� � 5���=5��� *��� �	%. ���� �. L0��"

��H���. *���0H���� � ����� �� �K34���� � 5�3 � ���	 *�� �K34���) � ����� � �

5���=5��� *��� �	�. 03 *��5���� ��O���5� �� �� ��5���=5�-<� �� �	%. 2������

� ����� �� K���5�� � 5�3 � 
 � ���	 *�� �K34��� L0�. *�� �0� ��H. � 0����H��� *���

3�*����� �� �	� *��� ����5����� � ����� � �� �K34���� �� 5���� � ��� �����3�����)

	�3� QN ,�� 3��5������. �3 2����. �� 3�*������� �� �	% � �� �	� �<� ���������.

�0 ��Q�. � 
� �) � ����� � � 5����3*��� *��� ����� � �� �0K�� 4���5� 2�0������
�������. ����� ���2�3 �� ����� � � � 
 � L0� � ��Q����� �� ��5���=5���� �	�.

*���0H���� 03� ����3����� �� �� ����� �) � ����� �� *���� *��� ��5���=5���� �	%.

2������ 03� ����3����� �� �� ����� �) �����3����. � 3�*����� �	% *���0H �
 �

*����� �� ��)

�03 ��L0�3� 3��� �=5����� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	� �

5���=5���� �	% � 5�*�H �� 2���� ������3���� � ����� � � � ��5���=5���� �	�

� 5�*�H �� 2���� ������3���� � ����� �
) � =20�� B)A �*���� �����5� �����/�� ��

����0�0�� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	�. ������0H���� 03� ����-<� L0�

� 0��� �� ���4���-<� �� ��2����3�� �� ���3�H�-<� *��� 5���=5�-<� 5��Q0��� �� ,����

� 5����. 5�3� �� L0� �<� �*���������� �� �*O���5� �. ��-R�� 9 � ;) �� *���� ��

����� �� ��30��-<�. � 3���� *���� �� ��3*� �� *��5����3���� � 2���� �� 5���=5����

�	% � �� ��5���=5���� �	� L0� �<� �����5���3���� ��O���5�� ����� 5���. *���

�34�� �3*��2�3 � ��2����3� �� $����4� � �� 3��3�� 5J��2�� 5�����05������)

'���� �����(���� ���)���� �� *���� � �����

�3 6�� �� ��� >A9?. 03 ��2����3� �� ���3�H�-<� 5��Q0��� �� ,���� � 5����

� *��*���� *��� 3��/���� � ����3*��/� �� 5���=5�-<� 5��Q0��� 5�3 �	% � �	�

L0� /���� ���� ������0H��� *�� �
�	#�� �� ��� >X?) �3 �
�	#�� �� ��� >X?. � �	%

� � �	� ���3 ���3�H���� ��*�����3����. �0 ��Q�. 3���3�H���"�� �� ����� 3���� ��

C9



���� 3���� L0���N��5� �� �	%. *�� 3��� �� 03 ��2����3� 5�3� � �*��������� ��

��-<� �)A �� �*O���5� �. ��3 5��������� � ������-<� �P��� ������0H��� *���� *���K����

����� �� 5����) 	�3� 5����LZO�5��. 03� �����-<� ��������3���� *�L0��� �� ����-<�

�����"�0K�� �� 5���� E	��� 7 �%����� )�!��� �� 4��	� 8����G. �3 �����3������

,��P�� �� �������. 5�0���� 03� �����-<� ��������3���� 2����� �� ����� �� ����-<�

�����"�0K�� �� L0����H���� E%��� 7 ������	�� )�!��� �� 4��	� 8����G. 50Q� 5N�50��

� ,���� 0����H���� �� ������� � � �
) �3 6�� �� ��� >A9?. �� �K���� �� ��5�����0-<�.

*�����5����� �� 5��Q0��� �. � �� �K34���� �� 5����. *�����5����� �� 5��Q0��� �.
�<� �Q0������ 5��Q0���3���� ������� �� 03 ��2����3� 5�3� � �*��������� �� ��-<�

�); �� �*O���5� �) ������� ����� ���3�H�-<� 5��Q0��� � *���K��� ����0�� � *��4��3�

���5���� ��������3���� �. *��� ��P�� 3������ L0� A ��� *�� �3�����"�K34��� E� � �G.
���� ����0�-<� � 4������� ��2��=5����� >A9?)

����������. 03 ��2����3� 5�3� � �� ��-<� �); �P�2� 03 5�������N��� ��3*�

�� *��5����3����. *��� � ��5���N��� 03� ���� ��30��-<� 5��Q0��� 5�3 �	% � �	�

���� ��H L0� �� �K34���� �� 5���� �<� �Q0������ *��� L0� �� *���� ������� � ,0�-<�

�4Q�����. ���� �. ����3�� � ����� 3���� �� ���� 3���� L0���N��5� ����� �� �������

� � �
) ���<�. 5�3 � ���0��� �� ���0H�� ���� ��3*� �� *��5����3����. *��*1�"��

03 ��2����3� �� ���3�H�-<� *��5���3���� 5��Q0���) 
��5���3����. *��� ��� ���� �3

5��������-<� � ������-<� �P��� ������0H��� *���� ����� �� 5���� 3�� �<� �Q0��� ��

�K34���� �� 5���� �3 �) � ��2����3�. ���5���� �� ��-<� �)9. �Q0��� �� �K���� ��

��5�����0-<� �3 �. 3���3�H���� ������3���� � ����� 3���� �� ���� 3���� L0���N"
��5� ����� �� ��LZO�5��� �� ,���� � � �� 5�����*�������� ����3������ ��� ��LZO�5���

L0����H���� �
)

%�� ���������� ��
*�
�� �� +�
�� � ��
�� ��	

����� ��( � ����� ��!

� ��L0�3� �� 5���=5�-<� 5��Q0��� L0� �3*��2� �0�4� �	% � �0�4� �	�

�. �� �������. ��3��/���� �� 3������� �� =20�� B)A. 4������� �04����0�� �	% *��

��	% � �	� *�� ��	�) ����������. � 5���=5���� ��	% 0����H� � ��$� �3 ��H

�� #�$� 5�303���� ������� �� �	% � � ��5���=5�,�� ��	� *��� ,�H�� 0�� ���"

�� �� ��$� L0���� �� ��2����3� �	��) �� ,���. ����� � ��$� L0���� � ��2����3�

C;



�	�� ���<� �������� ��� ��30��-R�� ����� 5�*K�0�� ��,������� M 5���=5�-<� 5��Q0���

5�3 ��	% � ��	�) 
��� ��3*��=5�� � ����-<� 0����H���. � 5���=5�-<� 5��Q0���

�� ,���� � 5���� 5�3 �	% � �	� ���N ����2���� ��3*���3���� *�� �	% Y �	�)

�����2�3����. � 5���=5�-<� 5��Q0��� �� ,���� � 5���� 5�3 ��	% � ��	� ���N

����2���� *�� ��	% Y ��	�) �� � ��	� 0����H�� � ��$� ���N �3*��2��� � ��"

��-<� ��	% Y ��	�"��$�) 	��� � ��	� 0�� � ��2����3� �	�� ���N �3*��2���

� ����-<� ��	% Y ��	�"�	��)

%�� ��
������


'���� ���������� �� �����(���� ���)���� *���� � �����

����� �04��-<�. � ��2����3� �� ���3�H�-<� *��5���3���� 5��Q0��� E��-<� �)9G

� � ��2����3� �� 6�� �� ��� >A9? E��*��������� �L0� *��� ��2����3� �� ��-<� �);G

�<� 5�3*������) 
��� �,��0�� ���� 5�3*���-<�. ���N 0����H��� � �	% Y �	� 5�3 �

5J��2� ���� 	� �� ���� �������) � ,���� � 2�0������ �� 3���� H��� � ����[�5�� 0���N���)

�� ��P�� �������� ���<� �� A ��� *�� �3�����"�K34��� � 9 ���	 *�� �3�����"�K34���)

���� 5��=20��-<� ��*�5K=5� � 0����H��� *��� L0� *���� ��� ,���� 03� 5�3*���-<�

5�3 �� ���0������ ���*��K���� �3 6�� �� ��� >A9?) 	��� 03 ��� *����� ���

2�N=5�� ��� ��O� =20��� 3��5������� � ��20�� � � ���0����� �� 5N�50�� �� 3����

���0��� �� ��30��-<� �� �
 � ��� ��LZO�5��� �� ��3��/� � � ���� �� �����H�-R��

����*�������� �� 03 2������ �� ������40�-<� 2�0������) �� ��2����3� �� ���3�H�"

-<� *��5���3���� 5��Q0���. 5��� �����-<� �����H� 03� ��30��-<� ����� ��*�) �N ��

��2����3� �� ��-<� �);. 5��� ��H L0� � ,0�-<� �4Q����� � �������� 03� ��30��-<�

5�3� ���� � �P�50����)

�� =20�� B)9. �<� 3�������� �� ���0������ *��� � ��P� �� A ��� *�� �3�����"

�K34���. ��������� M 5�3*���-<� ��� ��2����3�� ��� ��-R�� �)9 � �); *��� ���3�H�-<�

5��Q0��� �� �	% Y �	�) ����� 5���. � *���K��� �4������. *��� 2�N=5�. L0� �

��2����3� �� ��-<� �); � 03 *�05� 3��/�� L0� � �� ��-<� �)9 �� ,��P� �� 	���

����� 9.: � B.: ��) �� ,��P� �� 	��� �� B.: � W.B ��. � ��2����3� �� ��-<� �)9

*���0H ���0������ �� %��� ��2����3���� ��,������� E�� 	:.:; � 	:.:9 ��G ��� ��
�	% Y �	� ���3�H��� ��*�����3����. ��L0���� L0� � ��2����3� �� ��-<� �);

*���0H ���0������ �� %��� ��2����3���� �0*������� E�� 
:.:A � 
:.:; ��G ���

CI



�� �	% Y �	� ���3�H��� ��*�����3����) �5�3� �� D.: �� �� 	��� ���/03

��� ��2����3�� �� �����5�) ����� ��2�<�. �5����3 *�05�� ����� �� 5���� � � %���

\���0��] �� ����� �� ������-<� 3���� �� �	% ���3�H���)

�� =20�� B);. �<� 3�������� �� ���0������ *��� � ��P� �� 9 ���	 *�� �3�����"

�K34���. ����� ��������� M 5�3*���-<� ��� ��2����3�� ��� ��-R�� �)9 � �); *���

���3�H�-<� 5��Q0��� �� �	% Y �	�) �2��� � *���K��� �4������ 5����3���� L0�

� ��2����3� �� ��-<� �); � 5�*�H �� *���0H�� ���0������ 4�3 3��/���� L0� �� ��

��2����3� �� ��-<� �)9 �� ��2�<� ���� � %��� ����� �� ,��3� 3��� �4�0*�� 5�3 �

	��� E����� A:.: � A9.: �� �� 	���G. 5/�2���� � ��,����-�� �� %��� �� ����3

�� A ��) ��34�3 �� �O 5����3���� L0�. �� ��2�<� ����� AA.: � A;.B �� �� 	���. �

��2����3� �� ��-<� �)9 �<� 5����20� �0*���� � %��� �� �	% Y �	� ���3�H���

��*�����3����) �� ,��P� ���� � �����-<� �<� � �<� �4�0*�� E����� 9.: � D.: �� ��

	���G. �34�� �� ��2����3�� �O3 ����3*��/� ��3��/����) 
�������. � ��2����3�
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